3GPP TSG-RAN WG3 Meeting #92
R3-161235
Nanjing, China, 23 - 27 May 2016
Agenda item:
12.4
Source:
Nokia, Alcatel-Lucent Shanghai Bell
Title:
Text proposal for Multiple Operator support in V2X 
Document for:
Discussion and Decision

1
Text Proposal
X.3 Multiple Operator support in V2X
The following scenarios need to be supported for V2X:

· Usage Scenario 1: (shared eNB) Only Operator A have eNBs in a specific area. Operator A’s eNB are shared with Operator B for all services including V2X.

This is a normal RAN sharing scenario. Operator A’s eNB indicates the support for Operator B’s PLMN ID in the SIB. Regulator may assign dedicated spectrum for V2X service. 
· Usage Scenario 2: (shared) Only Operator A have eNBs in a specific area. Operator A’s eNB are shared with Operator B only for V2X service.

In this scenario, the V2X service may be provided via a PLMN ID dedicated for V2X service. Regulator may assign dedicated spectrum for V2X service.

· Usage Scenario 3: (shared) both Operator A and B have eNBs in a specific area. Operator A owns the V2X spectrum. Operator B’s UE use its B’s eNBs for LTE service. Operator B’s UE can use A’s eNBs only for V2X service. 

In this scenario, the V2X service may be provided via a PLMN ID dedicated for V2X service. Regulator assign dedicated spectrum for V2X. Operator A owns the V2X spectrum.

· Usage Scenario 4: (non-shared) Both Operator A and B have eNBs in a specific area. Operator A’s UE sends a V2X message, which is further sent to Operator B’s eNB for broadcasting. 
In this scenario, the UE transmit/receive via its operator’s eNB. The V2X message from Operator A’s UE is sent to a V2X server, which is further sent to Operator B’s BM-SC for further distribution via MBMS. It is the responsibility of the V2X service provider to connect to both operator’s network, just like a normal service provider providing services to UEs from multiple operators. 

· Usage Scenario 5: (non-shared) Only Operator A has eNB in a specific area. Operator B’s UE can only receive MBMS V2X packets from A’s eNB
In this scenario, Operator B either does not have eNBs, or does not own the V2X spectrum in this area. This scenario mainly pends on RAN1/2 progress, e.g. SI “eMBMS enhancements for LTE”.

